g6 (FTEHE)

ERBERFOER2 7FEREICELD
BRIEFOERFEIZONT

Frk2 849 H 1 5H

S (T
1 FH27HEEREEZORIEFORR

(T-H)

H267 5 27 H2 TP .

< 5 doa | b | 0| ged | o

) ®=0—-© @ @+@
i SR VAR 8, 590 0 8, 590 2,814 11, 404
MRS A 196, 712 48, 440 148, 272 160, 004 308, 275
AR 4 B 10, 912 10, 912 0 - 0
a 7t 216, 214 59, 352 156, 861 162, 818 319, 679

X1 @B, THARMOBRBZMELAL TERLTWDZD, GFHInT L LR,

32 MNERENT A A -5 2 B B AR (H22~27) 20 5 45 3 Wrh i) B AR (H28~33) 124k Bk L 7= FE L 4,
%3 MEEFENL A B 1 B B AR (H16~21) 20 5 55 2 HWirh 3] B AE IR (H22~27) 1T #§ 0 BR U 7= RS 4,

E, %ii@éﬁn4M$mzowfﬁ\¢%H%ﬁﬁ%7%ﬁﬁ@%ﬁ%kLfﬁﬁbﬁﬂot%

DTHY . BRI EATH B,
2 BUEIEADERMER
EAPOIRRE SRR (308, 276 TH) (RS MEFBHRIT KO LEY THD,
(M)
X 5 H28 H29 H 30 Xl
1 *%(Eﬁiﬁﬁ;w&mk S 70) 6, 778 8, 808 8, 800 24, 386
2 B(iiﬁﬁ{gwggﬁﬁﬁ?}ﬁ 6, 645 3, 143 9, 788
3 %Q?Eig ng <6) 7,810 8, 732 16, 542
4 |ENEERRE S 1,479 1,479
5 |FAETE &IEEERE 7, 350 7,350
6 |FNKFESX L - BT 3, 209 3, 209
7 |FEFE (DY) BficklE 6, 744 6, 744
8 |% Bk — ikl 749 749
O | Xl T A 5 R T 3 s S 7 6, 458 8, 468 14, 926
10 73(%};:5;):};%;2%;%@ 4, 320 2, 052 6, 372
11 ifg%ﬂﬁéﬁ/mﬁ%ﬁ s pk) 4, 000 2,410 24, 413 30, 823




X 4y 28 29 30 A3
I TV AT NEH
12| (e B 5 by AT 7,610 17, 600 13, 000 38, 210
N b LR E S E
U3 Gzt (OB b1 Lokfssort) 9, 800 4,200 14, 000
14 ALK G T 1,307 1,307
O ARYZRE T T
L5 | "o B8 1< o = o B ST ) 12, 386 21, 360 9, 963 43,709
MRS WL B W
L6 " (Tradess i - o 57 S5 3 ) 3, 036 9, 000 9, 000 21,036
PGSR (R R )
VT | (s sy R 255 ) 8, 424 3, 900 8, 096 20, 420
18 |BrEH(ERE 2, 800 2,800
Ko N U — 7 B R
9] G by —s miEgsERE 0878 Tt A
20 |t R F5 i A i U i 4 10, 000 10, 000 10, 000 30, 000
& Bt 83, 159 106, 034 119, 082 308, 275
3 E27FEEITERLE-BHMBIEDFEERETEICHT SELE
(FH)
H27
x AN = = A
) SFEA e
1 |FEESRB%E 1, 350 1, 350
2 | X EAE 22 T R i s 1,951 1, 692
3 | b A LR E 8, 640 8, 640
4 [GEFA (D) FEBHEAR 58T 6, 793 6, 534
5 |OARZR NV ay) W 9, 750 9, 732
6 [y MU — BT 9, 500 8, 709
7 |FAEEERE Bl - Rir) EH 2,488 2,431
8 |[FAMEERM (X R) B 5, 747 5, 597
9 | B 7 =7V 7R 3, 887 3, 755
10 R (DBR) A— L RdE 1, 850 0
11 |MEGHERSSIA L L TR 20, 000 0
12 |hi kel R i e 4 & L C oo 10, 000 0
& &t 81, 956 48, 440
4 FER2 7FEITERLI-IGHEBILIEBOEERETEICNT HEE
(FH)
H27
X g = =4
x5 T | i
HEH S 1 EE0 9, 500 9, 494
O |17 ALAE PR o 5T 1,412 1,418
& At 10, 912 10, 912




